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A, = 27.7[mm|x 7.95mm|

o €1 o €2
Excel

P € € " € 5 € "
mV] | x10° | x10° | x10® | x 10°®
30.3 2140 | 1830 | -460 | -7.70
50.2 3365 | 3435 | -7.20 | -13.30
70.4 4270 | 5150 | -10.75 | -20.25
90.3 5220 | 67.95 | -14.00 | -26.65
1112 [ 6355 | 8405 | -1810 | -32.25
131.3 | 7600 | 99.65 | -2155 | -37.25
1513 | 8775 | 11440 | -2540 | -41.90
1704 | 9950 [ 12815 | -29.30 | -47.05
1912 | 11175 | 14290 | -33.75 | -52.20
2111 | 12415 | 15735 | -3820 | -57.55
231.6_| 137.15 | 17230 | -42.00 | -62.10
250.8 | 149.75 | 186.40 | -45.60 | -66.65

Microsoft



0, €4 € 4" € € 5 € " €
[MP] x 10° | x10° | x10° | x10° | x10® [ x 10°®
1 1.35 20.00 17.10 18.55 -4.30 -7.20 -5.75
2 2.23 31.45 32.10 31.78 673 | -12.43 | -958
3 3.13 39.91 48.13 44.02 | -10.05 | -1893 | -14.49
4 4.02 48.79 63.50 56.14 | -13.08 | -24.91 | -19.00
5 4.95 59.39 78.55 6897 | -16.92 | -30.14 | -2353
6 5.84 71.03 93.13 82.08 | -20.14 | -34.81 | -27.48
7 6.73 8201 | 106.92 | 9446 | -2374 | -39.16 | -31.45
8 7.58 9299 | 11077 | 106.38 | -27.38 | -43.97 | -35.68
9 8.51 104.44 | 13355 | 119.00 | -3154 | -48.79 | -40.16
10 0.39 116.03 | 147.06 | 13154 | -35.70 | -53.79 | -44.74
11 10.3 128.18 | 161.03 [ 144.60 | -39.25 | -58.04 | -48.64
12 112 139.95 | 17421 | 157.08 | -4262 | -6229 | -52.45
(O] (6) ( 2 €1 € 12
[MPa] | [MPa] | [MPa] | mPa®1 | x 10 | x 107%
1 1.35 1.33 0.02 0.0003 | 1855 344.2
2 2.23 2.27 -004 | 00015 | 3178 1010
3 3.13 3.14 -001 | 00001 | 44.02 1938
4 4.02 4.01 0.01 0.0001 | 56.14 3152
5 4.95 4.92 0.03 0.0007 | 68.97 4757
6 5.84 5.85 -0.01 | 0.0001 | 82.08 6737
7 6.73 6.74 0.00 0.0000 | 94.46 8923
8 7.58 7.58 0.00 0.0000 | 106.38 | 11316
9 8.51 8.48 0.03 0.0007 | 119.00 | 14160
10 0.39 0.38 0.02 0.0003 | 13154 | 17303
11 10.3 10.3 0.00 0.0000 | 14460 | 20910
12 112 112 -003 | 00011 | 157.08 | 24674
75.2 0.0051 1055 | 115200
O (9] ( 2 € € 22
[MPa] [MPa] [MPa] | MPa? | x 10 | x 1072
1 1.35 1.33 0.02 0.0005 | -5.75 33.0
2 2.23 2.13 0.11 0.0116 | -9.58 91.8
3 3.13 3.15 -0.02 [ 00003 | -14.49 | 209.8
4 4.02 4.09 -008 | 00057 | -19.00 | 360.8
5 4.95 5.04 -009 | 00086 | -2353 | 5536
6 5.84 5.87 -0.02 | 00006 | -27.48 | 755.0
7 6.73 6.70 0.04 0.0013 | -31.45 | 989.0
8 7.58 7.58 0.00 0.0000 | -35.68 1273
9 8.51 8.52 -0.01 | 0.0001 | -40.16 1613
10 9.39 0.48 -008 | 00065 | -44.74 2002
11 10.3 10.3 0.02 0.0003 | -48.64 2366
12 11.2 111 0.07 0.0055 | -52.45 2751
75.2 0.0411 | -352.9 | 13000
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o =0.0712x10°, +0.0105 [MPa] 10
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S, =\/ ,1122 — 00411 _ 5 001x10° [mPa]
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13000x 107 0.0411
_ : =0.04 [MPa
> \/12 x13000x10™? - 352,92 x10™ 10 (MPal
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(10)
o =0.0712x10°, [MPa] s
o =-0209x10°¢, [MPa]
E = 0.0712x10°[MPa] = 71.2[GPa] 14
(13) o
_ 2 _ 0.0712 — 0341 15
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(6)
G-t - "2 26.5[GPal] 16
21+v) 2x(1+0.341)
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13

(O] € €1 2 € € 2
MPa] | x10° | x10° [ x10° | x10™ | x10° | x10°® | x10° [ x 10
1 1.35 18.55 18.79 -0.24 0.057 -5.75 -5.86 0.11 0.012
2 2.23 31.78 31.23 0.55 0.299 -958 | -10.10 0.52 0.267
3 3.13 44.02 43.85 0.16 0027 [ -14.49 | -14.40 | -0.09 0.008
4 4.02 56.14 56.29 -0.15 0022 [ -19.00 | -1863 | -0.36 0.130
5 4.95 68.97 69.36 -0.38 0147 | -2353 | -23.08 | -044 0.197
6 5.84 82.08 81.92 0.16 0026 | -27.48 | -27.36 | -0.11 0.013
7 6.73 94.46 94.42 0.04 0.002 [ -3145 | -31.62 0.17 0.030
8 7.58 106.38 | 106.36 0.02 0.000 [ -35.68 | -35.69 0.01 0.000
9 8.51 119.00 [ 11936 | -0.36 0131 [ -40.16 | -4012 | -0.05 0.002
10 9.39 13154 | 131.80 | -0.25 0064 | -4474 | -4436 | -0.39 0.150
11 10.3 14460 | 14461 | -001 0.000 | -4864 | -48.72 0.08 0.006
12 11.2 157.08 | 156.61 0.47 0221 [ -5245 | -52.381 0.36 0.127
75.2 1055 0.997 -353 0.942
1.6
14 |+
7T\
1.0
08
06 I
04 +
0.0
-1 -05 0 05 1
11 o
E V G
E 71.2 [GPa]
\Y; 0.341
G 26.5 [GPa]



E 715 [GPa]
v 0335
G 26.7 [GPa]
o €, e, [E=0 ./t | 2
[MPa] | x10° | x10° | [GPa] | [GPa] | [GPa%
1 135 1855 | 575 | 727 15 221
2 223 | 3178 | -958 | 703 -0.9 0.80
3 313 | 4402 | -1449 | 712 0.0 0.00
4 402 | 5614 | -19.00 | 716 0.4 0.14
5 495 | 6897 | -2353 | 717 0.5 0.30
6 584 | 8208 | -2748 | 712 0.0 0.00
7 673 | 9446 | -3145 | 713 0.1 0.01
8 758 | 106.38 | -35.68 | 713 0.1 0.01
9 851 | 119.00 | -40.16 | 715 0.3 0.09
10 939 | 13154 | -44.74 | 714 0.2 0.05
11 10.3__ | 14460 | -4864 | 713 0.1 0.01
12 112 | 157.08 | 5245 | 711 ~0.1 0.02
752 1055 | -353 856 3.63
0.8
01 F
715
692 697 702 707 712 717 722 727 732
[GPa]
12

14




95

12

S=0.574[GPa]

p=+113[GPa] =>—* =+158] ]
71.5-71.2)
L 14100=0.420 |
715
0, € €2 v =le /e ?
[MPa] | x10° [ x10° - ' x 107
1 135 | 1855 | 575 0.310 ~00312 | 0972
2 223 | 3178 | -958 0.301 -0.0395 | 1.563
3 313 | 4402 | -1449 03201 | -00119 | 0142
4 402 | 5644 | -19.00 03383 | -0.0027 | 0.007
5 495 | 6897 | -2353 0.3411 0.0001 | 0.000
6 584 | 8208 | -27.48 03348 | -0.0062 | 0.039
7 673 | 9446 | -3145 03329 | -0.0081 | 0.065
8 758 | 10638 | -3568 03354 | -0.0056 | 0032
9 851 | 11900 | -40.16 03375 | -00035 | 0012
10 939 | 13154 | -4474 0.3401 | -0.0009 | 0.001
11 103 | 14460 | 4864 0.3364 | -0.0046 | 0021
12 112 | 15708 | 5245 0.3339___| -0.0071 | _0.050
752 | 1055 ~353 3.97 2.90
T
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S=0.0162

p=100318 —=—* 1931 ]
0.341-0.335
e T 100=1.80 ]
0.335
10
Ei v Gi 2
[GPa] ' [GPa] | [GPa] | [GPa?]
1 72.1 0.310 27.7 1.0 1.09
2 70.3 0.301 27.0 0.3 0.10
3 712 | 03291 | 268 0.1 0.01
4 716 | 03383 | 267 0.0 0.00
5 717 | 03411 | 267 0.0 0.00
6 712 | 03348 | 267 0.0 0.00
7 713 | 03329 | 267 0.0 0.00
8 713 | 03354 | 267 0.0 0.00
9 715 | 03375 | 267 0.0 0.00
10 714 | 03401 | 266 -0.1 0.00
11 713 | 03364 | 267 0.0 0.00
12 711 | 03339 | 266 -0.1 0.00
856 397 322 121
14
1 n
1 =
08 |
0:6
04 |
0 26.7
255 26 265 <7 27 275
[GPa]
14

16
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- 26
26.7

S=0.332[GPa]
u=+0651[GPa] =
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68

E=712+06 [GPa]
v =0.34+0.02
G=265+03 [GPa]

E 715 [GPa]

Y 0.335

26.7 [GPa]

John Taylor

1992
2000
2003
2002
2003

18

p.2 50

p.28
p.82 109

p.129 143
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